EAGRAROBREERT — 2 N— ABISH —F

202058230 (£) 3EIERIH

m XIWRILT 17X $75%3% GBRE) STl B ‘ (Xfg] B ‘ [REmsh]  — |2 (B) 24000 B
[A&%] 1 7 10,100,000 § 2 7% :4,000,000 3 3% :2,500,000 4 3% :1,500,000 ™ . 53 :1,010,000 M
& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
NN 8 R — 126. -11-11- . . ARKE (ER)
il g | 7A7rsa-% 4 3 e 2(2_6)0 11-11-11-7 | 35.2| 95.0 | 2 as) pERE
L:ANT =G BISLAI—T— =Y Tr—LA
S L (D ElsE! :26. 66~ . . KEBEA (RR)
olsls| ¥ THT RS 4 3 i (72?‘:5) 6-66-7 |35.3| 95.0 | 7 (4_820) EEE%EK
RN—YITL BRHRFA b HET7—L4
— NS BEHZ : -8-8- AHE (EX)
3lslg| Fr7vr3on 4 3 B (22216/24> 8-8-8-7 |35.6| 91.1 | 5 3523) toe (
R:ANT—FI B4V /70— HTES
S g 4 3 | AEEN 2:26.5 12-12-12-12| 35.4 | 90.0 | 12 | 500 | THEEEZ (E®)
4111 M3 '7‘”'/77 56.0 (1/2) (+4) AARGFIE
R:7—9Tr—R BiAREIH—Fy b %3 L HERKS
R . > 3 | BHBEE 2:26.7 5-5-4-4 | 36.3| 88.4 | 6 450 | MIIFRE (ER)
5\7|10| ¥~ 7Y% “ 7| 560 (1 1/4) © | B FvaviIr-a
RiFxTAANAN BF4T7IANIE— J—HrTr—LA
e s 4k — ] oo &
e .| THr7U Ty [B] 2 8 || s 2(72?:) 2222 | %.6| 8.7 | 1 | 50 gggg ()
R:TS9IEA K B TrAFNRAT S i SN
NS HEALE : 88— EBIEA (ER)
7 o| gy Ty F— 4 3 ne 2(.32/%8 8-8-8-11 |35.9| 87.1 | 9 <4+526) sall (
R:A—v>TIh— B:FAT79427 "HET7—L
B $ 4 3 | EHB 2:27.0 4-3-2-2 | 36.8| 859 | 4 504 | HEH#E (ER)
8|8[12| T APAHAF- %6.0 (1 1/4) (g |EHEM
L:IET77%47 B:d—IWKRFIMA4X 75 Kiig
AL S # 3 | BEAS 2:27.2 1-1-1-1 | 37.1| 84.2 | 10 | 486 |FBR (EXN)
9lgli1|VTIT>N1Z724— 56.0 ) ) | W DA
:d—IWRYy T B:Ya7—0b ARXRETa—-T7—L4L
V= 4 3 | EERMAETT 2:27.3 6-7-6-5 |36.8| 82.9 | 3 492 | BERE (EF)
10 713 L=Z7L78X 56.0 ’ (1/2) (-6) (B) Y>7—L—>>9
LN—YIF1 BT RIAYFLY J—HT L
RYSVEY N EUE:S :27. -10-8- . . YRR (ER)
11 NP SVAN-GE: 43 2l 2(227>6 8-10-8-7 |36.9 | 80.1 | 11 z:g;@ E%E%ﬁ%(
R:vO7% BiELYLIN—b B
NS FEH : -3-4- ERNEE (EXR)
12 3| FLTLRY—L4 [B] i 3 e (27.?#) 2-3-4-5 |39.7]62.0 | 8 ;1:126) phs
L:ANTz—dI B:ZXEZ—~ZX3IYO $#HE 1ER
@ 71 L
) 48.1-35.9
NA>ZA L | 12.3-11.3-11.3-12.8-12.4-12.2-13.0-12.6-12.2-12.0-11.6-12.3
@ I —F—@EBIERL
13—3F— 11(3,4)12,10-(5,7) (2,6,8)9-1
2o =7= 11,4(3,12)10-5,7(2,6)8,9-1
Fol=5r= 11(4,12) (3,10)-(5,7) (2,6,8)9-1
40—4— (¥11,4,12)10(3,7) (5,6,8,9)2,1
[ N3
BB 9 440/ 714K 5-9 1,250H e E 5-7 1,230 JEHE 5-6-9 8,700
8 B 9 180M 6-9 890M B = 5-9 3,860 @ 9-5-6 41,190/
5 470M 5-6 1,180 | | & H 9-5 6,450
6 300M

ABRICOVTHRTEEERROODE, THEB LS,




